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FLo52 % = 3.600M | 10,000/
B g 6,000 (6.600M) 6500M(7.1508) | S'900m) | (11000M)
% =
S1=FHIS2 (Step1~3) 6,500 (7,150M) 8,500 (9,350H) 3.600M 10,000
(N ~3) g (3.960M) | (11.000M)
® %.E = | 6,500M(7,150M) 7,000/ (7.700M)
#E (Stepd) 7,000/ (7.700M) 8,500/ (9,350M)
a— 36008 | 10.000M
M| B %5 = 7.000M(7.700M) 7.000m(7.700m) | 305 | 1 000s,
#:E . BH - @3 | 13.000M(14.300M) | 15,000/ (16,500M)
ZF_ﬂ pram—
952 s f:p;j ) 7,000/ (7.700M) 8,500/9(9,3509)
m 36008 | 10,000M
56| @ - = | 8000M(8800M) 7,000/(7,700M) | (3.960M) | (11.000M)
35 . @ - @3 | 14.000M(15.400M) | 15,000/ (16,500M)
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7SR PAE E B &t HME /£ | FE/E£/ AESE
I 18.000/ | 16,000
il - B - AL (19.800M) | (17.600M)
I 250001 | 20000/ | 3.600M | 10,000/
AR w2 R ECE-RRGE-# | 57500m) | (22.000M) | (3.960M) | (11.000M)
e = ome 25,0000 | 20.000M
w3 m-BCHE-RR-E- | o7 500m) | (22000M)

ik 52 e e o e 25.000M | 20000/ | 3.600M | 10,000M
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e WEHSERNE /BEE | 16,000/ (17.600M) | 15.000M(16,500M)

= e ————v—— 3.600M | 10,000

D s | WEEENE/ 2 | 120001(132008) | 1500080165008 | SSEOE | 17 000m)

BSR4 I - 5% | 25,000/ (27.500M) | 15.000/(16,500M)
MBS 5 16,000/ (17,600M) | 15,000/ (16,500M)
MBS B 12,000/ (13.200M) | 15,000/ (16,500M)

MBS HE - &% | 25.000M(27.500M) | 15,000/ (16,500M)

o 36008 | 10,0009
BASSEBE /%E | 18,000M (19,800M) | 15,000/ (16,500M) | (3:960F) | (11,000M)
WASEERNE /%2 | 14,000/ (15.400M) | 15.000M(16,500M)

WA RN /R - 5% | 27,000/ (29.700M) | 15.000/(16,500M)
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